“ALL OF THE ABOVE!”

1. Conor is going to a new school
because...
a) he has to, now that heis 15.
b) the family has some problems.
c) it will give him a better education.

2. Why are his shoes unacceptable at
the school?
a) Their style is unsuitable.
b) They’re the wrong colour.
c) They are not solid enough.

3. Raphina says she is not in school because sheis...
a) a mother
b) a model.
c) ina muddle.

4. What does Conor’s brother say about rock and roll?
a) Some people in it are ridiculed.

b) It is ridiculous. 1.
c) No-one should ridicule it.
5. Who was Raphina’s boyfriend listening to in his car? =
a) Genesis
b) Duran Duran 3.
c) The Jam
4.
6. Raphina says she ... come to the band’s first gig.
a) will try to 5
b) can’t -
c) will probably ~
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